
	
   1	
  

Ejercicios	
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Completa	
  el	
  texto	
  de	
  Karl	
  Marx	
  
	
  
Un	
  fragmento	
  de	
  Marx	
  sobre	
  el	
  valor	
  de	
  cambio	
  de	
  la	
  mercancía	
  
	
  
Instrucciones:	
  
	
  
De	
  las	
  20	
  palabras	
  siguientes,	
  presentadas	
  por	
  orden	
  alfabético,	
  sólo	
  15	
  
corresponden	
  a	
  los	
  espacios	
  que	
  debes	
  rellenar.	
  Hay,	
  por	
  lo	
  tanto,	
  5	
  que	
  no	
  
corresponden	
  a	
  ninguno	
  de	
  los	
  espacios	
  que	
  debes	
  rellenar.	
  

Ejercicio:	
  

"abstracción,	
  capital,	
  carácter,	
  común,	
  cualidad,	
  desaparecen,	
  explotación,	
  
formales,	
  formas,	
  fuerza,	
  gastada,	
  mercancías,	
  mercantil,	
  objeto,	
  obrero,	
  
productivo,	
  producto,	
  revolución,	
  trabajo,	
  útiles"	
  

	
  	
  

“Dejando	
  a	
  un	
  lado	
  el	
  valor	
  de	
  uso	
  de	
  las	
  (1)__________	
  ,	
  sólo	
  les	
  queda	
  una	
  
(2)__________	
  ,	
  la	
  de	
  ser	
  productos	
  del	
  trabajo.	
  Pero	
  el	
  (3)__________	
  del	
  trabajo	
  ya	
  ha	
  
sido	
  metamorfoseado	
  sin	
  nosotros	
  saberlo.	
  Si	
  hacemos	
  (4)__________	
  de	
  su	
  valor	
  de	
  
uso,	
  al	
  mismo	
  tiempo	
  (5)__________	
  todos	
  los	
  elementos	
  materiales	
  y	
  (6)__________	
  
que	
  le	
  daban	
  este	
  valor.	
  Ya	
  no	
  es,	
  por	
  ejemplo,	
  una	
  mesa,	
  una	
  casa,	
  hilo	
  o	
  un	
  
(7)__________	
  útil	
  cualquiera;	
  tampoco	
  es	
  ya	
  el	
  producto	
  del	
  (8)__________	
  del	
  tornero,	
  
del	
  albañil	
  o	
  de	
  cualquier	
  otro	
  trabajo	
  (9)__________	
  determinado.	
  Con	
  los	
  caracteres	
  
(10)__________	
  particulares	
  de	
  los	
  productos	
  del	
  trabajo,	
  y	
  al	
  mismo	
  tiempo	
  que	
  
ellos,	
  desaparecen	
  el	
  (11)__________	
  útil	
  de	
  los	
  trabajos	
  en	
  ellos	
  encerrados	
  y	
  las	
  
diversas	
  (12)__________	
  concretas	
  que	
  distinguen	
  unos	
  tipos	
  de	
  trabajo	
  de	
  otros.	
  Por	
  
lo	
  tanto,	
  ya	
  no	
  queda	
  más	
  que	
  el	
  carácter	
  (13)__________	
  de	
  estos	
  trabajos;	
  todos	
  se	
  
reducen	
  al	
  mismo	
  trabajo	
  humano,	
  a	
  un	
  gasto	
  de	
  (14)__________	
  humana	
  de	
  trabajo,	
  
siendo	
  indiferente	
  la	
  forma	
  concreta	
  en	
  que	
  dicha	
  fuerza	
  haya	
  sido	
  (15)__________	
  .”	
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Solución	
  

1. 	
  	
  	
  	
  mercancías	
  
2. 	
  	
  	
  	
  cualidad	
  
3. 	
  	
  	
  	
  producto	
  
4. 	
  	
  	
  	
  abstracción	
  
5. 	
  	
  	
  	
  desaparecen	
  
6. 	
  	
  	
  	
  formales	
  
7. 	
  	
  	
  	
  objeto	
  
8. 	
  	
  	
  	
  trabajo	
  
9. 	
  	
  	
  	
  productivo	
  
10. útiles	
  
11. carácter	
  
12. formas	
  
13. común	
  
14. fuerza	
  
15. gastada	
  
	
  

Toda	
  la	
  frase	
  

"Dejando	
  a	
  un	
  lado	
  el	
  valor	
  de	
  uso	
  de	
  las	
  mercancías	
  ,	
  sólo	
  les	
  queda	
  una	
  cualidad,	
  
la	
  de	
  ser	
  productos	
  del	
  trabajo.	
  Pero	
  el	
  producto	
  del	
  trabajo	
  ya	
  ha	
  sido	
  
metamorfoseado	
  sin	
  nosotros	
  saberlo.	
  Si	
  hacemos	
  abstracción	
  de	
  su	
  valor	
  de	
  uso,	
  
al	
  mismo	
  tiempo	
  desaparecen	
  todos	
  los	
  elementos	
  materiales	
  y	
  formales	
  que	
  le	
  
daban	
  este	
  valor.	
  Ya	
  no	
  es,	
  por	
  ejemplo,	
  una	
  mesa,	
  una	
  casa,	
  hilo	
  o	
  un	
  objeto	
  útil	
  
cualquiera;	
  tampoco	
  es	
  ya	
  el	
  producto	
  del	
  trabajo	
  del	
  tornero,	
  del	
  albañil	
  o	
  de	
  
cualquier	
  otro	
  trabajo	
  productivo	
  determinado.	
  Con	
  los	
  caracteres	
  útiles	
  
particulares	
  de	
  los	
  productos	
  del	
  trabajo,	
  y	
  al	
  mismo	
  tiempo	
  que	
  ellos,	
  desaparecen	
  
el	
  carácter	
  útil	
  de	
  los	
  trabajos	
  en	
  ellos	
  encerrados	
  y	
  las	
  diversas	
  formas	
  concretas	
  
que	
  distinguen	
  unos	
  tipos	
  de	
  trabajo	
  de	
  otros.	
  Por	
  lo	
  tanto,	
  ya	
  no	
  queda	
  más	
  que	
  el	
  
carácter	
  común	
  de	
  estos	
  trabajos;	
  todos	
  se	
  reducen	
  al	
  mismo	
  trabajo	
  humano,	
  a	
  un	
  
gasto	
  de	
  fuerza	
  humana	
  de	
  trabajo,	
  siendo	
  indiferente	
  la	
  forma	
  concreta	
  en	
  que	
  
dicha	
  fuerza	
  haya	
  sido	
  gastada."	
  


